THREERRE - T ERFANZERRE REE R 1/2,500

N

BAIRZNDIEE |2EHBORE

HRAEES 132205A661116062

[EIES A

FriE A L O

I & B @R 1/50000

AR T Z [ A D
T TS e

it

s
8 S

(o

. Ll
s
L

= »‘: L,:T

1':-'60)'5‘;56

X & & R A

I:l IMREERRE

- IBRERAERRE (BPERHES) —
BB LB H0100kN/ mE B % B R i
HHEIOImERZ SR
[ ] zhusoxs

B R R I (FFRS
TRFEDNOREEDRT

[TREDNDORES—ERISHE

Of

TEE

7

1/2,500

ERE




TEFOAODKESS—E

(BEZEE] BARZRDIEE |(AlEfHhORE
1. TEEO)%WE’*%EHQ”&Uﬁ%%':M'Zé’\ EBAEEE  [132205A661116062
ﬁ@Eﬁ%Eﬂ@gﬁ",Hﬁ é#’LT:IZiE‘ZF_IZ\]O)niifl_EmL'CL\%o N yr—
(A) BBEII= LB 7Y 100kN/ % 2% 2 K DIEEND 1 DB AEKN/m) (E) #HEZAIMEIEZ 2RO HEHED H DBEAB®KN/nf) 2 THXERARUZEBNICSHIREEHT S ik il
Z A MmZztEA g HERNIE m = /N3mE A ERNIE m EAs 3 - — L D=3 il —
B) (WD LHBEMIERT HBED LA ZEDEHE(m) (P ENLHEEN RS 558D LEE DB %iwwﬁ’;fégfﬁi'ﬂﬁ%%éf_ ﬁ@?ﬁﬁ P 7E #h KET WWOE
(C) BB L5 A HM00kN/ M LT DR B OB BID 5 DB ABEKN/m) (G) HFEBA ML T DR i DHEFED 1 DB A EKN,/ ) EMBEEIHEEHRRLBEBHRIRHALR
D) C)ALHEEYIERTIBENIEZENES(m) H) QD LZBREYIIERTIBEDLRENES(M) DRFGFAENCHEET H_ENTES,
HETFTRLYFHOLEZEDADKES SIESHA DL EZEDHDAEE
RHBES % =
(A) (B) () (D) (E) (F) (@) (H) (B) (©) (D) (E) (F) (G) (H)
(1) 124.2 1.0 99.8 1.0 - - 12.8 25 124.2 1.0 984 1.0 - - 12.8 2.5
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